¢

>

SIGNATURE SERIES

JK/JL/JT

LICENSE PLATE FRONT
BUMPER UNDER
MOUNT

WEB LINK: http://lodoffroad.com/assets/pdfs/JLP0720 License Plate FB Under Mount.pdf

*VERIFY YOU HAVE ALL THE COMPONENTS BEFORE STARTING THE INSTALLATION. REFER TO THE
ENGINEERING DRAWINGS AT THE END OF THIS DOCUMENT FOR A COMPLETE PARTS LIST*

JLPO720 - REV 1 09/28/2020 Page 1




**Maintenance**

« Periodically check and re-tighten all fasteners.

 Periodically check for scratches or dings which can happen over time or
after heavy use or highway driving. It is important to address these areas
as soon as possible to prevent flaking and corrosion or rust from spread-
ing. We recommend using Rustoleum® brand Black Semi-Gloss Protective
Enamel (oil based). Remove loose powder coating, sand the area and clean
using alcohol. Apply using a foam brush by dabbing to match the powder
coat texture.

JLPO720 - REV 1 09/28/2020

Page 2




1 40 | 133HS 4 :37IS 133HS [AREIN 0N

A4

A3

L¢Z0d1r
0¢/0d1  -on “oma

INNOW d3ANN d3dWN49

INOJ4 31V1d 3SN3DIT JANLVNDIS

‘NOILdIdOs3a

D11 qOT “E

:003
SILON 33§

HSINIS

V/N

AVIELYW
“¥dd¥ OIW

¥ddV ON3

AINO3HO
HOW NMVIa
INYN

NOILIdO LVOD d3dMOd ADV1d = 1¢L0d1T ¢

NOILdO 1331S 334 = 0¢£0d

'l

‘Q3LIEHO¥d
197100740 NOISSIWId
NILLFM 3HL LNOHLIM JTOHM
V SV 40 1¥Vd NI NOILONQOHIY
ANY D11 0140 AL¥3dOdd
3105 3HL S| ONIMYQ SIHL
NI G3NIVINOD NOILYWSOSNI 3HL

TVIINIQHNOD ANV A¥VIIIN4O¥d

S00°0% YWID3d 30V1d 3IHL
S10'07  TYWIDIA IOV OML
LLFHOVW AVINONY

010'0% :SIONVHII0L

SIHONI NI 33V SNOISN3WIQ

*@314103dS 3SIMIIHLO SSIINN

SIION
z Q3LV1d ONIZ.9S X ZL# $THSYM LV dzé0zimd] S
z 3LV1d ONIZ.S/8 X .91/S@ $FHSYM LV dzviiemd] ¥
z 31v1d DNIZ 00" L X 91-8/€ SOSHS d791918es0sHa| €
z 31v1d DNIZ 05°0 X 0Z-+/1 SOSHS d780025250SHE| ¢
L INNOW ¥3ANN 84 31¥1d ISNIONIT OIS lo-0zZ0d1ry| 1
“ALD NOILdI¥D$3a $EIWN Lavd |

Page 3

09/28/2020

JLPO720 - REV 1



. ¢

—_—
—_—
—
—

JK/JL/JT Jeep
SICNATURE SERIES |
LICENSE PLATE FRONT I”;gglil’fé?n
BUMPER UNDER MOUNT
SHIPPING SHEET

Packaged by:

||

On:

SIG LICENSE PLATE FRONT
BUMPER UNDER MOUNT
4JLP0720-01

(x1)

JLPO720 - REV 1 09/28/2020

S

BOLT KIT
(may vary)

Page 4



. ¢

>

JK/JL/JT Jeep
SICGNATURE SERIES
FRONT BUMPER LICENSE

PLATE UNDER MOUNT
BOLT KIT
Packaged by:

On: 1/4-20 X .50" BUTTON HEAD CAP SCREW
(x2)
L NC N

3/8-16 X 1.00" BUTTON HEAD CAP SCREW

(x2)
5/16 X .875" FLAT WASHER #12 X .56" FLAT WASHER
(x2) (x2)

JLPO720 - REV 1 09/28/2020 Page 5



